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INSTRUCTIONS

1. Please correctly: fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At the: start: of the examination, before attempting the
~- question paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that:

*  The serial numbers of test booklet and O.M.R answer sheet
are same.

* - All pages of test booklet and O.M.R. answer sheet are
properly printed. All questions from S. No. 1-tolast S. No. 100
are printed and pages from S. No. 1 to last S. No. 16 are there
in the question booklet.

“in- case: of  any. discrepancy/ defect. the .candidate should

immediately report the matter to the invigilator for replacement of

test booklet and O.M.R answer sheet. No claim / objection in this

regard will be entertained after five minutes of start of examination.

Candidate will be liable for it.

3. Answer all questions.

4. All questions carry equal marks.

5. Only one answer is to be given for each question.

6. If more than one answers are marked, it would be treated as
wrong answer.

™

There is no Negative marking.

8. . Each question has four alternative responses marked serially
as (A), (B}, (C), (D). Candidate has to darken oniy one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9. Use of Mobile Phone/ Bluetooth Devices or any other

electronic gadget in the examination hall is strictly prohibited.
if any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
rule: :

10, If there is'any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question;
the English version will be treated as standard.

Warning : if a candidate is found copying or if any unauthorized

material is found in hisfher possession, F.ILR. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/ner permanently from all future examinations of the Board.
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What is the rank of India in Tokyo Olympxcs, 6.  Which one of the followmg is not correctly
20217 matched?
(A) 10t : (B) 25th (A) Avani Lekhara - Weightlifting
(C) 40t (D) 48th (B) Apurvi Chandela - Shooting
: (C) Arjun Lal'Jat - Rowing
1Y e, 2021 B UgH aiferet § AR (D) Devendra Jhajharia - Javelin throw
BT BT R 87 , _
®) 109 (B) 2541 T 8 G B W g T
(©) 405t (D) 483" (A) afy ERT — AR
. . . . (B) arqdt = — fremamsh
KAZIND-21 is a joint training exercise
. ) (C) 3 &t e — ABTaA
between which countries? D) 3= R — el B
Eg; Ind?a—Mald'i ves :g; Ind%a-Kazakhstan 7. Which volcanic‘region is known as the valley
: Indlla-Russm India-USA of Ten Thousand Smokes?
PRfE—21 THE FD R aprE FRE (A) Cotopaxi (B) Katmai
ot & TRT T T (C) Etna (D) Chimborazo
(A) T (B) TR BT BT ST & T B’ gAY @Y B
(C) yNa—=9 (D) WRA—IMRET B ::m:{ J ST SHdT %\?
Which Indian-American woman astronaut (A) B (B) weHqe
travelled into space in July, 20217 (C) wesT (D) frgRTS -
(A) Sunita Williams  (B) Mamta Tripathi 8. Which among the fb]}owing (Désert -
(C) Suman Dholkiya (D) Sirisha Bandla Country) is correctly matched?
v _ (A) Nubian-Mexico  (B) Chihuahuan-
g R T B ST Afgern sfaRer arAl : " China
3 e, 20214 FaRer & g B2 (C) Atacama-Chile (D) Sonoran-
(A) girar fafer (B) s B Australia
(C) g ererfpar (D) faRwr Ifgar -
Sial, Sima and Nife are - gg;f A ( — @) W g
(A) Earthquake (B) Layers of the A) T—lﬁ?ﬂ _ A (B) Rrgemger — A
waves Earth ‘
. (©) srermr — el (D) WFRT —
(C) Volcanic (D) Types of Hf
topographies mountains
9. Which among the following is correctly
Rrarer, W ol A & — matched? |
S o (i) Khejarli Movement - Amrita Devi
Eg; kSN iz; Eéﬁﬁ? Z’jjﬂ (ii) Chipko Movement - Gaura Devi
ST . , (iii) Appiko Movement - Karnataka
- rerrpert Code -
In which folk dance the musical instruments (A) (i) and (ii) (B) (i) and (iii)
Dafli, Ghuraliyo, Khanjari and. Pungi are (C) only (i) (D) (i), (ii) and (iii)
used? .
(A) Kachhi Ghodi  (B) Kalbeliya et % & P wd gafera 87 2
(C) A fire dance. (D) Gair (i) TSTSeN e — JRyar ot
(i) fRrae srigier — WY <@
e wire 1 # Shel, gRIfeRll, WO AR (i) e aridierT — Bfed
i arer=t w1 wERT fhar S 2 ' ae —
(A) =] Ol (B) wreraferar (A) (i) T (ii) (B) (i) er (iii)
(©) arftq [ (D) (C) Baat (i) (D) (i), (ii) @erm (iii)
106-D O Page 2 of 16
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10. Zg?i?;pd the following statements are 4. Among the following which of the ornament
(1) Potwar Plateau is located in Pakistan: Ii)n ;t ;/{\;;);n by women(?B)
(ii) Patagonian Plateau is situated at the axhdi Memand
foothills of Andes Mountain. (©) Kandora (B) Morkha
(iii) Tibet Plateau is located between ﬁﬂﬁfl‘% : HRraTal
Himalaya and Kunlun Mountain. . iAAGAIUE N ot g1
! ode - —'-:{_Eﬁ LEEIRSIGT %? :
(A) (i), (if) and (iii) (B (i) and (iii) (A) TEg (B) w¥g
(C) only (iii) (D) (i) and (ii) (©) TR (D) AREn
. . 15. Match List-l with List-Il and select th
PR 3 & B W wourT wd &7 de given
! t
(1) TR . 3 Ror 2| EZ{;&S- answer with the help of code glven
(i) YeIMFET B 9SR G ydd B qeree] List-I (National Park)
¥ Rera 2 (i) Manas National Park
(iii) T BT YSR fRETer™ Tl G udd (ii) Nagarhole National Park
o B gy ey 2 (iii) Silent Valley National Park
Te — (iv) Wayanad Wildlife Sanctuary
A (o - List-1I (Location ’
EC; _g}aa(”) 14 (i) ([B)) (}) ) (ffl‘) (a) Karnataka
(iii) - (D) (i) wd (ii) (b) Kerala
11. What is ‘Palan’? (c) Assam
(A) The seat to be placed on the horse (d) Tamil Nadu
(B) The seat to be placed on the camel QQQ@: .
(C) Synonym of Gorband (A) (1)'(d)n (11)-(a), (lll)'(C), (“’)'(b)
(D) A folk musical instrument :g; (©)-(c), (i)-(a), (iii)-(d), (iv)-(b)
ey (1)-(b), (i1)-(d), (iii)-(a), (iv)-(c)
qaToT T 87 B (©) (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d)
() B TR T W e B
(B) S TR ¥ S AT Iy -1 B A1 & g Ff aur
(©) MR o1 waredf oreq feg e g ¥ 9@ SR g -
(D) v A arer &F 0 1R )
12, For which fort Col. James Tod said, “If he is i) AT TS e
offered a Jagir in Rajasthan, he will choose (i) = Hg_ ERRINEL
this fort” ? . (iii) wrgeie deft WS A
(A) Chittorgarh (B) Bhainsrorgarh (iv) IS TS AR
(C) Nahargarh (D) Ranthambhor -1 ()
. o (a) FAlCH
7 71g @ fQ defer oiwy Sfs F we o, Ay (b) &R
I ORI # U SRR & Uerer & o1y, (c) arem
@ qE T T BTG (d) aferTrg
(A) feredrers (B) H¥RI$TG -
(C) wreve (D) RureriR
(A) ( (1)-(d), (ii)-(a), (iii)-(c), (iv)-(b)
13. «
mg called the Britishers Mulk Ra Metha (B) (i)-(c), (ii)-(a), (iii)-(d), (iv)-(b)
(A) Shankardan Samore © @—(b)' (i)-(d), (ii)-(a), (iv)-(c)
P (B) (i)-(a), ii)-(b), (iii)-(c), (iv)-(d)
(C) Kesari Singh Barhath 16. ‘Nimadi and Ragadi’ are sub-dilects of which -
(D) Nathusingh Mahiyariya (dlge;:/;c i (B) '
ewati Marwari
IS B e 31 AT U fraT wET? (C) Malvi (D) Hadoti
() 3ipRe AR ¥
(B) Tsﬂ?_[rﬁ—c{'m."':f T vd IR fh diel &Y Su—aiforaf &7
(©) 3ad Rig IREe A (A) Farcht (B) ARATS!
(D) iRz wfeaRar ¥ (C) wrerdy (D) BTkt
= ,
106-D \) Page 3 of 16



17. Who wrote the booklet ‘Popa Bai ki Pol’?
(A) Bhanwarlal Saraf

(B) Jaynarayan Vyas

(C) Aanandraj Surana

(D) Mathuradas Mathur

WrgraTs B e TS gRIET e forar?
(A) HaeATeT ARTH

(B) SIg-IRTYIYT 1Y

(C) STT=__IST GRToT

* (D) WYRTETH HIR

18. Which of the following statements are

correct about East Rajasthan Canal Project

(ERCP)? g

(i) This project has been made for
permanent solution to drinking water
problem of 13 districts of Eastern
Rajasthan.

(ii) It proposes to provide lmgatlon water
for 2.8 lakh hectares of land through 26
different large and medium projects.

(iii) Navnera Barrage is an mtegral part of
this project.

(iv) Prime Minister Narendra Modi has
‘declared this project as a national
project recently.

Code-

(A) (1), (ii) and (iii)

(B) (i) and (iii)

(C) (ii) and (iii)

(D) (1), (ii), (iii) and (iv)

it <ToTRIT TeR GRANST (ERCP) & waer #F

fr=ifoRaa & 9 B9 9 wuw w2

(i) T uRarsrT gt o 3 13 Rielt @
ﬂmmzﬁmwa}%{q

g T R

(xx]sﬂﬁzsﬁﬁﬂa@qamqﬁmmmﬁ
@ W W 2.8 AT TFIN YA A Riwnd
Y I IUTE PR BT IwATT R |

(m)ga‘-’mévmsﬂtﬁa‘fwmaﬁﬂf%m
t

(iv) e AR A 3 B € 59
gﬁﬁwﬁw@ammﬁﬁw
!

-

(A) (1), (ii) T (iii) i

(B) (i) T4 (iii) e gﬁ

(©) (ii) v (iii)

D) (1), (ii), (iii) QH(]V)

19. Who were the leader of the Rebellion of
w1857 i in Kota?

. g"‘“’"" ot (A) Jai Dayal and Mehrab Khan

%% (B) Shravan Singh and Jaiveer
(C) Ram Singh and Takhta Singh
(D) Magbool Khan and Bakhta Singh

,Fw 18572% ﬁ?ﬁ‘a"cb‘f Hrer § A9 ﬁﬂﬁ ﬁsm

oqr?
w(A)Waﬁvﬁmm

< (D) Foger @i IR I Riw
%?? Which one .of the foHowmg (National

%’%ﬁ Geological monument - Site) is correctly

v matched?

(A) Sendra Granite - Pokaran (Jaisalmer)

« (B) Akal Wood Fossil Park - Mandore o

{(Jodhpur)

§ " (C) Stromatolite Fossil Park - Talwara
(Banswara)

(D) Great Boundary Fault - Satur (Bundi)

f“gﬁwﬁrﬁqa#%aﬁwmﬁu@aﬁaim
T - wyd) g gafaa 80

() F=1 UTEE — GHROT (SHAR)
T (B) el g WIRe ure — HER (STHIR)
?w?(c)@ﬁa’msﬁ BRI U —  ToAarel
S (aieETe)

;;?(D)H‘&'H@HTW ?ﬂg@ﬁ)

%?; Where is the ‘Moosi Rani ki Chhatri’ located?
"@W (A) Udaipur

(B) Jaisalmer

" {C) Alwar (D) Jodhpur
it T @ Bad wui Rerg ¥7
(A) SR {B) SIeR
(C) R (D) SR

22. Which Rammat artist presented the book

‘Swatantra Bawani’ to Mahatma Gandhi?
(A) Tej Kavi (B) Tulsiram
‘Jaisalmeri

(C) Phagu Maharaj (D) Sua Maharaj

I gIs We B Al?
(A) 71 Hfd T (B) gereiRm
(C) BT, HERIST (D) garm HERIST

meno
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25.

23. Which folk deity is celebrated in Terahtali 26. Match the following - .
dance? 'LW%; B i
. (1) Shahpura ' 3
A
| ( )Devnarayamx (2) Sinhthal
(B) Tejaji (3) Khedapa
(C) Ramdevii (4) Ren ,
(D) Pabuji List- Il (Establisher}
st ~ (i)  Saint Hariram Das ji
‘ Sy A ; (ii) Saint Ramdas ji '
ARedrell o # by dwaaar & ;' (iii) Saint Dariyav ji ' g—g
faa e 22 (iv) Saint Ram Charanji et
() TTIRTIOTSH Code-
- stmaoomo
-(iv), (2)-(1), (3)-(ii), (4)-(iii
) (© (1)-3), (2)-), (B)-(i), (4)-(v)
O Tt | | ; ®) (-0, (2)-(i), (3)-(). (49-0)
24, Wherc.e is the In.stitute of Tropical M?dicing' SN 5
and Virology being set up? T - | (R weEn @ m)
(A) Jodhpur (1) SERT A
(B) Udaipur (2) Rigua
(C) Jaipur 3) ;Tm
- (D) Alwar (4)
,« A — 11 (Reamaereb)
sfveese sifp 2w ARRM td TR %@ﬁﬁ?ﬁ
Hal venfug fhar o war 87 - (iif) W =R o
(A) SrRTgR @ (iv) e IPTEROT S
(B) SR o % =
(C) SR g; (A) (U‘(?V). (2)'@» (3)'(?0; (4)'@)
©) e (B) (1)-(iv), (2)-(1), (3)-(ii), (4)-(iii)
; , : W2 (©) (1)-(), (2)-(i1), (3)-(iid), (4)-(iv)
Which one (ornament - body part) is nqﬁ%:;j (D) (1)-(i1), (2)-(iii), (3)-(iv), (4)-(1)
matched correctly? 27.  Bikaner, Jaisalmer and Churu are included
(A) Mundari - Fingér in which Agro-climatic Zone of Rajasthan?
(B) Tadda - Arm - (A Int-ernal Drai_naget Dry Zone
6 i (B) Arid Western Plain v
() Nevri - Feet (C) Hyper Arid Partial Irrigated
() Ramjhol - Waist (©) Irrigated North-Western Plain
PIET @mEer — o) gafera TEF 87 aﬁaﬂﬁvﬁ*}wﬁvsﬂ?ﬁﬁmﬁw%m_
(A)’SFA@'" ST ; FR—Teary uae/@vs H afrafera 87
| : (A) 3r<T: YaTE YSF WU
B) eger — .
(, ) £SS1 - T (B) of¥erll I ATF
(© T8 — ®R (©) aif g% a1l R
(D) e — HR (D) Ty — ufderd Riftrr Hem
106-D O ' Pagesof15



28. Recently the large deposits of uranium have

found in Rajasthan at -

(A) Rohil (Sikar) (B) Saladipur (Sikar)

() Anandpur Bhukia (D) Amet (Udaipuir)
(Banswara)

T €1 3 T A P B 78 oS ar

32. The writer of the book “Stargazing : The

Players in My Life” is -
(A) Sunil Gavaskar  (B) Ravi Shastri
(C) Sachin Tendulkar (D) Virat Kohli

RN T @l g1 A9 asw” q&ID &
AGP & —

. (A) giret RAEa (B) =fa em it
(A) Afa () (B) IR (Faw) (&) W dgeax (0) fave wel
‘ . 33 Which one of the following (Temple - Place)
(€) =g YfHar (D) amiT (STAW) is not matched correctly?
(qrears) (A) Sirre Mandir - Jalore
29. Where does Kesariyaji fair take place? (B) Tripura Sundari Mata Mandir - Tilwara
(A) Dhulev (B) Jhalarapatan (Barmer)
(C) Parbatsar (D) Kiradu (C) Sundha Mata Mandir - Bhinmal (Jalore)
‘ (D) Vibhishan Mandir - Kaithoon (Kota)
PR o G e e 82 PR 3 & i (e — <o) 7
(A) goig (B) srreRTaTeS H &
(C) wRgawR # (D) frvrg A (A) RR HR7 — el _
30. ‘Spring Tide’ occurs on - (B) FqR7 Yot wrar #iex — ferarsT (a16iR)
(A) Only Full Moon (C) ur AT Hex — Arerer (SEAR)
(B) Only New Moon D) R 1 AR — e (e
(C) Both Full Moon and New Moon 34. When did the Mangarh Massacre happen?
(D) Neither Full Moon nor New Moon (A) 13% October, () 17t November,
1913 1913
N . (€) 215t January, 1914 (D) 23+d March, 1914
(A) Baer gfofr 1 Eﬁ HITTG FREER &9 §all AqT?
(B) choret SrTaRaT Bl (A) 13 sresR, 1913 (B) 17 wsR, 1913
(C) yffar &R smmaw <9 @1 | (€) 21 5991, 1914 (D) 23 =7, 1914
() =1 &t gffar o1 1 & srEEwT B 35. Pushkar lake is surrounded by how many
31. Which one among the following is not Ghats?
correctly matched in reference to land (A) 42 (B) 46
utilisation (2018-19)? © 52 (D) 58
(A) Net Area Sown - 51.85% g e e Trel & Ry 27
(B) Forest - 8.05% (A) 42 (B) 46
(C) Current fallow land - 5.22% (C) 52 (D) 58 ,
(D) Non Agriculture Area - 8.10% 36. ‘Elder line’, the first Pan-India foll-free,
‘ helpline number for senior citizen is -
SIS H g ST (2018-19) B e W (A) 10987 (B) 12468
BT R T 87 (C) 14567 (D) 12345
(A) g 91T T 8T - 51.85% :
(B) = &7 - 8.05% hil a%ffﬂRﬁm S AR AR
EUTTST # TeSNAIST &1 4R &
(©) =rey v 4 &1 - 5.22% (A) 10987 (B) 12468
(D) 315fy &7 - 8.10% (©) 14567 (D) 12345
106-D O Page 6 of 16

37. What is head of the village called in the 41. In the following question, there are four
Garasia Tribe? choices of words with their letters jumbled
. up. Three of them are alike and one is
(A) Mukhi (8) Patel different. Find the odd one out -
(©) Ladvi (D) Kotwal (A) CARFAI (B) AAIS
- (C)RPOUEE (DYITADN
TRIRET St # vifa @ gRaar &1 ®m Bl
ST 27 ~ e e ¥ Wil & aR g 9 e
' HERT BT IJele—veIC HRD 3T W &1 g99 0
B g (B) v I TP IR W GHE § R TS e a9
() T (D) picrelTet §1 9 @ wifey —
38. The petroleum producing area in the (2) CARFAI (g) 'AA IS
Rajasthan is spread over how many (CYRPOUEE . (DTIADN
o : 42. Here, three different views of a cube are
districts? : ) .
A) 9 (B) 12 given. Based on these diagrams answer the
' question given below :
)14 (D) 16
b e b
i . d a
IR F Ueferaw Sare & fhas e I c f
H BT gerr &7
®) 9 ®) 12 (i) (i) (i)
©) 14 (D) 16 Which of the following indicates the correct
i te faces?
39. National Education Policy 2020 aims to Ef;r Of;)ppOSl eraces: B d-f
achieve 100% Gross Enrolment Ratlo in 4
©€)f-e D b-d
school education by - : :
A z025 (8) 2030 uel, U oW B A srerT—orerT gey Ry ¥
(€) 2035 (D) 2040 3 Rl R smRa fre yw a1 SR AR
b e b
It R Y 2020 F REmew RBer ¥ . p -
100% H ATHIR IUTT UTRT B BT &g a | ¢
& - (i) | (ii) (iii)
(A) 2025 T - (B) 2030 7& forer ¥ @ B Auda vawt 31 i B
(C) 2035 e (D) 2040 T T |E g 87
40. Which of the following is the first desert (A)a-d B d-f
park in Jaipur? €)f-e ®b-d
(A) Ram Bagh : - 43. In a certain code, ‘DELHI' is written as
(B) Kishan Bagh B ‘CDKGH’ and ‘MADRAS’ as ‘LZCQZR’, then
: f ¥ ?
(C) Laxman Bagh - : how will ‘PATNA’ be coded?
. (A) OZTMZ (B) OZSTM
(D) Hari Bagh .
(C) 0zsMmz (D) 0ZMSZ
FraT g-aé ? .
Frer & TR T e " B Uh He AW W, ‘DELHI &7 ‘CDKGH’ farar
(A) < g ST & 3k ‘MADRAS’ 1 ‘LZCQZR’ R S
(B) feper amt 2, o1 ‘PATNA’ = &b T €Rfi?
(C) wieor 9w (A) 0ZTMZ (B) 0ZSTM
(D) &R amr (C) 0ZSMZ (D) 0ZMSZ
106-D O Page 7 of 16



4. From the original position given in below 46.

figure, points#rand B move one arm length
clockwise an’i‘él’“”j;hen cross over to the corner
* diagonally ogﬁtgsne, € and D move one arm
length anti-elgckwise and cross over the
corner dlag&%lly opposite. The original
settmg ADBQﬁés now changed to -

B - ]
(A) CDAB {;;g - (B) CBDA
(€) DCAB- .-~ : (D) BCAD

Rt fevig(RRe) &9 # sk 9 & ¢ | i

(A) CDAB j"‘“”‘”%‘” - (B) CBDA

(C) DCAB ¢4 (D) BCAD -

45 In a survey“ef 25 students, it was found
that 15 had taken Mathematics, 12 had taken
Physics and 11had -taken Chemistry, 5 had
taken Mathematics and Chemistry, 9 had taken
Mathematics and Physics, 4 had taken Physics
and Chemistry-and 3 had taken all the three
subjects. Find‘hé number of students who had

'Here, a statement is followed by three
assumptions numbered I, Il and III. You have
to consider the statement and the folloWing
assumptions, decide
assumption/assumptions is/are implicit in

- the statement and choose your answer

accordihgly.

Statement : “Do not lean out of the moving
train.” - A warning in the
railway compartment.

Assumpﬁbns : I Leaningoutofa movirig '

train is dangerous.
I1. Such warning will have
some effect.

- HL It is the duty of railway
authorities to take care
of passengers’ safety.\

(A) Only assumptions I and II are implicit.

(B) Only assumptions II and 111 are‘implicit;

(C) Assumptions I, Il and 111 all are implicit.

(D) Only assumptions I and I are implicit.

7el, TP PUT B TvER aF Q@RI LI

T [ €1 7 &) U Bue e genad]
qRvTSt @Y e ¥ T g¢ Piola wer &
5 Bl gduroT / qEaROg B ¥ awiRa
HYT : "HeT] §8 NS H qER B 3R A
TFI - o B R ¥ T Jan

which  of the

taken both Physics and Chemistry but not , '

Mathematics. w; : ‘ ATHE = L FoRl YA AR B SR

A1 = (8)5 : :

(©) 4 s @2 : II. 39 RE P AAEGH BT YA
3 : SR

25 BT & ge-wde ¥, 98 ur T 5 15 BT B |

« Wt foar en, 1209 i@t &6k 11 9 . Yo & eIl &1 a8

v e foram on, 5 9 i e e  oifre & B TR

fs R o, 9 % TR SR AR forn P il e

ofl, 49 NP MR g = forar o &k T ¥ S

3 % Wit O v R o) o BT @ e (A) et et 1R M orfifea &1

T B R difde ok e R (B) gt qargar 11aiR 111 srafifee 2

@ 1 @5 (©) 1, 113iR 11wt qaigar s=afifea 21

(©) 4 ) 2 (WWWHI@‘\’HIW%%H%!

106-D O Page 8 of 16

47. Inafamily of sixmembers P, Q, R, S, Xand Y.
R is sister of Y. Q is brother of X’s husband.
S is the father of P and grandfather of Y.
There are two fathers, three brothers and a ¢
mother in this family. How many male
members in the family?
(A4 3 B4
©) 5 (D) Can’t predict = -

o

wmquﬁawﬁpq,r{sxasnm
YtRYzﬁaﬁ%lq,xa%w%mnﬁ%i |
s, p 1 fer gd Y T <meT 81 5% URAR F AV ol
ﬁmfﬁ:rms‘awwm%itrﬁmﬁﬁmﬁ

7oy HER 87
(A) 3 S B4
©s5 (D) ST T B HHA

48. If 20-10 means 200, 8+4 means 12, 6x2 <if
" means 4 and 20+5 means 4, then
100-10x1000+1000+100x10=7 -
(A) 0 - {B)10 :
(€) 1090 (D) 1910 oA

afe 20-10 &1 faury 200, 8+4 &1 YT
12, 6x2 HT I 48 &R 20+5?m aﬁ?fsrm :

4 @
100-10><1000+1000+100><10=?

(A) 0 A (810

(C) 1090 (D) 1910 ol
49. In the given figure, number of triangles is ¢4

equal to ~ g

(A) 28 (B) 26

(©) 24 (D) 22

ﬁqwﬁmﬁ,ﬁg&ﬁﬁ%M‘W%~

50. Find the missing number -

7
) 63
2| 14 7 19}
30
15
(A) 54 i (B) 81
(©) 135 (D) 145
w9 A -
7
63
21 14 ? 19
30
15
(A) 54 (B) 81
(€) 135 (D) 145

51.

52.

S ©)9

S woale

The total number of eight digit numbers, in
which have all digits are different, is -

(A) 9|9 {B) 9l9
: 2

® 9l9
4

ars oot arel e, s wi s Frt 8,
& FA e T -
(B) 9___[_9:__

2 B
© 19 D) _S_%_L__Q_. -

4
Average of 11 results is 55, if the average of
first six results is 52 and the average of last
six fesults is 57, then the sixth resultis -
(A) 50 L (B) 42
©48 - (D)49

11 oRumEF BT ead 55 & AR WM B
qRuET @1 sired 52 iR afRH B ot
7 afEa 57 & dr wer R g —

() 28 @ 26 ®) 50 ®) 42
© 24 (0) 22 ©4 - @49
106-D 8 Page 9 of 16



33- A bag contains coins of R, 2, Rs. 1 and
50 paisa in the ratio 6:7:15 respectively. If
the total amount in the bag is Rs. 1590, then
the number of 50 paisa coins in the bag is -
(A) 900 » (B) 800
(€) 700 (D) 600

Wﬁ?ﬁzm,1maﬂvsoﬁﬁzﬁm
R 6:7:15 B U # ¥ fe A F way
S 1590 T &, o SN ¥ 50 9% b Rraest

B T g —
(A) 900 (B) 800
(©) 700 (D) 600
54. Ifin atriangle ABC, AD is bisector of angle A
AB=8cm, AC=10 cmand BC=13.5 cm, then
the value of BD is -
(A) 6 cm ' - (B)5cm
(€©) 9cm (D) 4 cm
I faf g ABC & BT A BT GHRTTTS
AD & AB =8 WH, AC = 10 |d ug
BC=13.5 94 &, o BD &7 wr &
(A) 6 g1, (B) 594,
(©) 9w (D) 4,
55. Jf3%x3 = 57+ then value of x is -
A) 1 (B) 2
© 3 - Do

57. The maximum value of
5cos9+3cos(9+ §)+3is-
A8 (®) 10
C) 11 D) 15

5cose+3cos(e+’3—’)+3mwwé_
g (B) 10 :

58. i
The equation of the curve passing through

(1"'}’2) dX“Xydy:Ois_
(A)X2+y2=1 (B)Xz_y2=1
© 2x2+y2=2 (D) y2 = 4x

;wazﬁaﬂmvmﬁﬁzg (1, 0) & T[oRar
Eﬁﬁ?ﬁ S EETCl '\El"fﬁWUT (1+y?)dx-xydy=0
AT AT 8, &R — '
(A) X +y2=1 (B) x2-y2=1
(€C) 2x2+y2= (D) y2 = 4%
59. A man is known to speak truth 3 out of 4
times. He throws a die and reports that it is

‘a six. The probability that it is actually a six
is -

(A) 1
o (®) 2
)1
: CF

WA S IR T R agad oy 3
' 3
IR A AT 8| TE b URY BT SoTerE
SR aeemer ¥ 5w W e areh Wi 6
B T Whmar S AR B ary R ey

27%—4 T R
(A) 1 (B) 2 et T6 %
CVE]
. (©3 (D) 0 8 o R
586. IF[3] = E] = (¢ N ©1 5 gﬁ
al—lb[=lclanda+b=?:, 3 (D)g '
(t/}:n angle between 3 and & is 60. Letf:R — R such that f(1)=3andf(1)=6 |
3 E ] ! . '
: (B) 1 Then, lim [5@-__)] =
(C) 2n (D) © w1
- 2 (Ay 1 (B) e1/2
o ’ (C) e2 D) a3
afq 3] = |b| = [¢| T 3+b=¢ ' e
o T B AT f:R>REF WBR & & £(1) =3 aik
a . , N '
=69 g [0
) 2 ™ - '
> ,(D) : (A) 1 (B) g1/2
(C) e2 (D) e3
106-D ¥ ‘
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(1,0)and satisfying the differential equation

61. Where is the Cantonment Board established
in Rajasthan? .

_(A) Chittorgarh (B) Bhiwadi -

{C) Beawar (D) Nasirabad
IO ¥ DI AvSd @1 RIUH FHEl B
T 7Y ,

(A) RrRiSTTE ~ (B) farer

(C) =TerR (D) sRMETE

62. Which of the following statement is
incorrect about Lokayukta in Rajasthan?
(A) He is appointed by chief justice.
(B) He considers the cases of corruption and
mal-administration. '
(C) His'job is to investigate grievances.
(D) First lokayukta was appointed in 1973.

o ¥ ATy @ dau § et |

J BT HUF Told 87

(A) T8 T ~grEer g7 e g ||

(B) 98 YR Ud HUTA & Al WX faaR

FRAT & |

(©) 5Tt 1 Rieradt # S B g1

(D) yerm wirga 1973 ¥ Frga fear 72
63. In which of. the following Legislative

Assembly-election, the number of members

of the Rajasthan Legislative Assembly was

increased from 184 to 200?

(A) Second Assembly Election

(B) Fourth Assembly Election

(C) Sixth Assembly Election

(D) None of the above

ﬁﬂﬁfﬁmﬁmiﬁmﬁ,m,

fRTRT & Wewl @ W 184 A 9gIHY
200 FX &1 g AP

(A) gER fawrerear garg

(B) Ty ferrrear g A n
(©) B3 fawrren gg § B
(D) SRGT | § B 8]

64. In which part of Indian Constitution the
union and the states administrative
relations are mentioned? '

(A) Part-XI, Chapter-11I
(B) Part-XI, Chapter-11
(C) Part-XI, Chapter-I
(D) Part-XIX, Chapter-II

AR AU B P 9 H WY UG TS
@ yeae day aftfa 87

(A) wFT-11, 3TI—3

(B) ¥TT-11, 3rA™I—2

(C) wi—11, s=ar-1

65. Whose responsibility is to get the survey of
those living below the poverty line?
{(A) Sub Divisional Officer (SDO)
(B) Block Development Officer (BDO)
(C) District Supply Officer (DSO)
(D) Statistics Officer

Y YEr § A olied a1ed R arell B
FdeToT FRa fhadT i &7

(A) TuETs AREN (TE.IL)

(B) wve e et (1)

(C) frer < @R (E1gEal)

(D) iR AP |

66. Which is incorrect statement in the
following? ‘

(A) Parliamentary Secretaries are appointed ‘
to assist Ministers. '

(B) State governments have been appointing
Parliamentary Secretaries from among
MLAs.

(C) Chief Minister appoints Parliamentary
Secretary and administer oath of office.

(D) The Third Schedule contains the form of
oath or affirmation for Parliamentary
Secretaries. :

e & Q@ BT B T 87

(&) el 1 e B forg e ft
Prgfee @ ol &1

(B) v WRAR fums! ¥ ¥ W wfdl
1 frgfe @t @1 €

(©) T wed Wi B Py e @
3R ue @ vy Rt g

(D) ey SR # < Ayl @ forg wrger
I WS T Uy Wi E |

67. When did Rajasthan Lokayukta and
Up-Lokayukta Act receive the assent of the

President? ‘

(A) 1973 (B) 1977

(C) 1983 (D) 1985

RN by AR A AT
FT USUR B @B B WD g_7?

(A) 1973 (B) 1977

(D) ¥1—19, 3Eq—-2

(C) 1983 ' (D) 1985

106-D O
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68. Balwant Rai Mehta Committee is related to -
(A) Local Self Governance
(B) State Administration
(C) Centre State Relations
(D) Revenue Reform

gerde g wear wfify @ ms"r g -
(A) i e
(B) 5 g
(€) B=g T ey
(D) 35T guR
69. Which of the following subject is no“tv listed
- in the 11t schedule of Indian Constitution?
(A) Animal Husbandry
(B) Poverty Eradication Programme
(C) Minor Forest Product
(D) Kanji House

Frefafes # & S e a/a @ G
&1 1141 g # gy T8 &2
(A) ggure™
(B) &l I BrimH
(C) org 991 Suw -
(D) sl BT9w
70. Which of the following (Articlés -
Provisions) pair is incorrect?
(A) Article 161 - Power of Governor to grant
pardon ~
(B) Article 167 - Duties of Chief Minister
(C) Article 213 - - Power of Governor fo
promulgate ordinances

(D) Article 165 - Special address by the |
” goVernor A '

ﬁfﬁ‘fﬁ@fm(&ﬂﬂ?ﬁ STEEIT) 7 ol

&

(A) 3T 161 - mma%m:raﬁvrﬁﬁ

(B) 3r728T 167 - TOHN & Tty

(C) 3T 213 - ARV TR WY A
ISUTE &) AT

1. Compact Disk-Recordable (CD-R) is a

(A) Read only disk
3 (B) Write, erase, re-write disk
(C) Semi-conductor disk

(D) Write Once Read Many (WORM] disk

.............

/(D) RIgE A S ¥ (WORM)%?%‘E
IBM 1401 is -

(A) First Generation Computer
(B) Second Generation Computer
« (C) Third Generation Computer -

(D) Fourth Generation Computer

IBM 1401 2 — :

A) yom O TR i

(B) fg<iig Oidt Fvgex 5&
(©) vy Bt Prger

.. (D) =g G HrpeR

? Which of the following is false?

- (B) TCP avoids network saturation.

(C) TCP makes commumcatmn between
server and client.

(D) In TCP/IP model, internet layer is closest»
' to the user,

Rt ¥ ¥ i e 87

@) Aefr & foe TCP STer yars wem
ST

¢ (B) TCP e Wawiie=or BT <rerar 2
(C)Tcpwmmz%nwmm

g1,

(D) TCP/IP Hise ¥, SeTie oF” Btmﬁnzm‘
% e 2

(D) STFE8T 165 - T HT AR srfdyreor

106-D O
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74. Which of the following is a valid set of ngh

- Level Languages? EOh

(A} {COBOL, PNG, LIST}

(B) {RPG, LISP, SNOBOL} |

(C) {C#, LPG, Python}-

(D) {Java, Anaconda, Snowflake}

ﬁwr F 9 B grs‘-z#aa—ﬁraa &1 Q‘CWE
-(A) {COBOL, PNG, LIST} '
(B) {RPG, LISP, SNOBOL}
-(C) {C#, LPG, Python} :
(D) {Java, Anaconda, Snowflake}
75. In context of MS PowerPoint Presentation,”
the valid ordered pair to fill in the blanks is-
A printout of e is strictly for the ... 5
(A) hand-outs, speaker
(B) notes, speaker
(C) notes, audience
(D) outlines, audience

T Wq@%g@%ﬁ!ﬁzﬁwﬁﬁ R
o @ R B forg S Wi I —
1 T firearse fAfkad vU ¥

76. When was the world’s first Laptop compute
introduced in the market and by whom?
(A) Hewlett-Packard, 1980
(B) Epson, 1981
(C) Laplink Traveling Software In, 1982
(D) Tandy Model-200, 1985

frog &1 UYH Aueiy HRYCY FY iR frus
g1 e ¥ wxga far wa ar
(A) Hewlett-Packard, 1980

78. [f you want to enter current date in an MS
Excel cell, then you can use -
(A) Shift +, (Comma) (B) Alt+.(Dot)
(C) Ctrl + ; (Semicolon) (B). Shift + Alt + D

afy o THTE. i Oe ¥ s 1 i
gfie e T 8, Y o SwrT # S —
" (A) Shift+, @mn  (B) Alt+. G[R)
(©) Ctrl + ; @fTer) (D) Shift + Alt + D
. Consider following statements :
1: A proxy firewall filters at the application
layer.
11 : A packet-filter firewall filters at the
network or transport layer. B
Which of the above statements is/are true?
(A) Only 1 (B) Only I '
(C) Both I and I (D) Neither I nior I

frey Bl W AR HW -

[+ o S PR TSI R T

. fye e el

Il : v Yde—freex wrRdle Jead 3N
ZirOe R TR fpeek Hl )

SR BT H W P U WE 5/ 87
(A) a1 - (B) ®aet 11
(C) 1 @ 11 &l =ad 1srE 1

80. The communication order of /0 system is -

(A) 0S <> Device Controllers «> Device
Drivers <> 1/0 Devices '

(B) 0S <> Device Drivers ¢> Device
Controllers « I/0 Devices /

(C) Device Controllers «» Device Drivers <>
1/0 Devices «> OS '

(D) 1/0 Devices <> 0S ¢ Device Drlvers &
Device Controllers :

(B) Epson, 1981 :
’ 1/0 feveq &1 HaR FgHH § -

(C) Laplink Traveling Software Inc, 1982 % . '

(D) Tandy Model-200, 1985 (A) 0S o fEarEd 35?'3? o FeaEd SR ©
77. Which file is responsible to start MS Word? 1/0 f&arg o

(A) windword.exe  (B) win.exe (B) 0s & %'CTTE’\‘? gER > feasd. CIIK:

(C) word.exe (D) wordwin.exe «1/0 feaeds

(©) foarsw FTR « Ay gER < 1/0
SRS P 6 T B AT Freh wre A b /
(A wmdword.eXe ~ (B) win.exe @) 1/0 ‘33‘3_@‘5} < 0S © fEasd FER &
(C) word.exe (D) wordwin.exe [REIEGICIARH
106-D O Pageisbf 16



81. Choose the correct option that expresses the
meaning of the underlined idiom :

Smugglers tried to fish in_the troubled

waters during World War I1.
(A) to take double benefit

(B) to work hard to survive

(C) to take advantage from a chaotic
situation o ‘
(D) try to destroy the énemy
82. Select the appropriate phrasal verb from the
given options to fill the blank space and
complete the sentence -

“Ten candidates ..oeeoeessseessonn, for the -

interview.”
(A) turned over
(B) turned up
(C) turned out
(D) turned down »
83. Match the words given in column (A) with
' their antonyms listed in column (B) -
(A) Words ‘
(a) Approximately
(b) Precisely
(c) Accurately
(d)’ Conspicuously
{B) Antonyms
(i) Questionably
(ii) Invisibly
(iii) Exactly
(iv) Roughly .
(A) a(ii), b-(iif), c-(iv), d-(i)
(B) a-(iv), b-(iii), c-(i), d-(ii)
(©) a-(ii), b-(iv), c-(i), d-(iii)
(D) a-(iii), b-(iv), c-(i), d-(ii)
8. Fill in the blank with the correct

85. Match the parts of sentences listed in
Column (A) with those of the ones given in
Column (B) so as to frame appropriately
meaningful sentences -

Column (A)
(a) Unless you work hard......
(b) If you were rich........
(c) The boy who stood first........
(d) We reached the station.........

Coluwmn (B)
{ ... you would probably spend much.
L) — got the prize.
(3] I before the train artived.
(iv) creeerens you will fail.

(A) a-(ii), b-(i), c-(iv), d-(iii)
(B) a-(ii), b-(iii), c-(iv), d-(i)
(€) a-(iv), b-(1), c-(ii), d-(iii)
(D) a-(iii), b-(ii), c-(iv), d-(i)
86. The senterce: “Where did you buy this pen
from?” (will be read in passive voice as}-
(A) From where had the pen been bought by
- you?
(B) From where is the pen bought by you?
(C) From where has the pen been bought by
you? . '
(D) From where was this pen bought by you?
87 Fill in the blank with the correct option:
A speech given without preparation is
called...scerrerennae
(A) Urge (B) Exhortation
(C) Rhetorical - (D) Extempore
88. Choose the correct option ~
'~ He said, “Give me some food, please.”
(Change into Indirect Speech)

(A) He said to me that give him food, please.
(B) He requested me that give me some food.
(C) He told me to give him food, please.
(D) He requested me to give him some food.
8. Fill in the blank with the correct
preposition -
Mr. Mohan divided his property
....................... his four sons equally.
(A) for ' (B) in
. (C) between (D) among
90. Out of the following proverbs, which one is

conjunction: correctly framed or does not have any error -
He commands me ... he were my in its form?
boss. ' - (A) A apple a day keeps the doctor away
(B) Don’t judge a book by their cover
(A) as (B) however (C) Where their’s a will, their's a way
(C) as if (D) but (D) Cleanliness is next to Godliness
106-D 8 Page 14 0f 16

91. fpa fawea § it wree oy & -
(A) T, A, T, &
(B) dra, qof, urer, gog
(C) aFef, 1T, TR, T
(D) 3R, 37Terd, ¥4, g
92. fipg ¥ ¥ b9 v o7 G- W@ T
& | |
(A) snfasper = anfa: + o
(B)W.:F+W‘
(©) fenf = g + afx
(D) =TT = &1 + TYw
93. gof @ gfe @ oRdma HBIAR BT T
afm -
(A) & €1 BT 9= DT — T iR afewar

BT |

B) HHM ¥ IR FFd SF — JTWR D
S|

(C) FA—rr W U — AT BT /AT T
BT |

(D) B & Fun e — e Wi B |
94. ﬁqmmwaﬁa%qﬁeﬁwﬁ%?
(A) aR" — ARAT = TR, gl BT U
(B) afe — Tifts = o), W A
(€ P — fremgT = R,
(D)m—ﬁ\—rﬁ'\’:aﬂw,:ﬂ?

5. W@M;ﬁﬂﬁaﬁeﬁ'm?ﬂﬁ“

(A) TR, 2O, 99U — A

(B) SR, AR, warer — =il
(C) qrereR, S, el — qere
(D) wferersr, R, arofa — W

96. HIFTET QT I WA T 87
(A)ﬁwﬁﬁwé—m
(B)vpﬁéﬂﬂé&ﬂﬁﬁ%ﬁm"m
(C)a‘rqgézmﬁ:‘fgsﬂg‘%aiw
(D)mﬁmmﬁzmmgﬁ_—

V-ﬁ?[ﬁ?ﬂ .

97. frq ey § Rem-—g sgfia 22
(A) arilres — wrfcad
(B)aﬁﬁ_——ﬂ’@ﬁ
(C) g — anfe
(D) e} — uRref

98. ﬁwﬁ@%ﬁm&aﬁﬁ%ﬁmaﬂaﬁ?
(A) e, SIfefY, TR
(B) greed, wfdy, QIR
(C) ST, ERET, GRARRT
(D) crer—ufers, arefFer, Fepn

9. P e §7F WA BT SAREW T 27
(A) I, T
(B) G, BHPR—T2R gi'é
(C) wapvear, AT
(©) sirgi—agm, SfeTIRR

100. wmﬁq%waﬂTﬁwaﬁ‘cﬁﬁﬁm
Sfera wrarf §—

(A) TR & 9 & ST
(Eﬁ%m@ﬁfﬁrﬁm

(C) srafdres e} T

(D) T Q1Y B AR T DI S T
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